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B.E. (L.T.)
SYSTEM OPERATIONS AND MAINTAINENCE
Time : 3 Hours] [Max. Marks : 100
Instructions to candidates:
1) Answer any three questions from each section.
2)  Attempt not more than 6 questions of which at least 3 questions must be
from each Section.
3)  Answers to the two sections should be written in separate books.
4)  Neat diagrams must be drawn wherever necessary.
5)  Figures to the right indicate full marks.
6)  Use of logarithmic tables, slide rule, Mollier charfts, electronic pocket
calculator and steam tables is allowed.
SECTION - I
QI) a) With a suitable diagram explain principal business processes and their
key functions. [8]
- b) List the emerging standards for the Telecommunication providers. [5]
¢) List the market drivers for support systems. [5]
OR
02) a) Classify the Telecommunication service providers. [5]
b) List the key functions of following support processes. [8]
i)  Customer care and Billing processes.
ii) Order processing and provisioning processes.
¢) Explain the organizational structure of the average telecommunication
service provider. [5]
03) a) Compare and constrast between challenges to products and infrastructure
faced by telecom service providers. [4]
b) List the goals of telecommunication service providers with middleware
solutions. [4]
¢) Explain web switching. [4]
d) Explain the service architecture for IP environments. [4]
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OR
Explain multiprotocol label switching with a operational example. [6]

With a diagram explain structure of SNMP based management services.

(5]
Discuss in detail policy based networking. [5]
Explain the concept ‘market segment differentiation’. [4]
List the functions of the sales process. X [4]
What is SLA. List service dependent metrices of SLA. [4]
Explain the significance of call detail Record. [4]

OR

Explain in detail the role of 557 in fraud management and accounting.[8]
List the functions of problem handling process. [4]
Explain the significance of observation of customer behavior. [4]

Give the significance of the inventory management process. As a key
area in supporting telecommunication service suppliers.

Define inventory. List the types of the same.

List some items that make inventory

Name the principal functions of inventory management system.  [8]

List and explain benefits of workflow applications. [4]

Draw a neat diagram of architecture of a generic mediation system. [6]

OR
Explain traffic characteristics and the three traffic models used in
engineering voice circuits. [5]
Write a note on ‘Content smart load balancing’. [5]

What principal processes are included in security management. What
basic threats are considered in security management. [6]

Define [2]
i) Service availability.

ii) Outage.
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What is management framework. Draw a neat diagram of architecture
of management framework. [8]

Compare and constrast. [8]
i) Management services and management applications.

ii) Device dependent and device independent applications.
OR
Explain core management services offered by management framework.
(8]
With a neat diagram give the overview of management operations support
services. [8]

Compare and constrast Building teams & keeping teams. [8]

What should job profile include. Write the job profile of a typical network
operations manager. [8]
OR

Write the job profile of a typical call center operator. [8]

Assuming job descriptions are clear and enough candidates to select
from; how many resource individuals processes need and how skill
requirements are met. [8]
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DISTRIBUTED SYSTEMS
(2003 Course) (414449)

Time : 3 Hours| [Max. Marks : 100
Instructions to the candidates:

1)  Answer all questions from each section.

2)  Answers to the two sections should be written in separate books.

3)  Neat diagrams must be drawn wherever necessary.

4)  Figures to the right indicate full marks.

5)  Assume suitable data, if necessary.

SECTION -1

QI) a) Describe in detail the different design issues in distributed systems.[10]
b) Use the World Wide Web as an example to illustrate the concept of

resource sharing, client and server. (8]
OR
a) Describe the key characteristics that are primarily responsible for the
uscfulness of distributed systems. [10]
b) Describe the 4 main types of architectural models. (8]

Q2) a) What is a stub? How are stubs generated? Explain how the use of stubs

helps in making an RPC mechanism transparent. [8]
b) Describe with the help of neat diagrams the two types of persistent
communication and four types of transient communication. [8]

OR

a)  What is the primary motivation behind the development of a lightweight
RPC system? Describe the four techniques used in a LRPC system that

makes it more efficient than a conventional RPC system. (8]

b)  What is RMI? What is the difference between static and dynamic RMI?

(8]

03) a) Describe the basic NES architecture for UNIX systems with the help of
a neat diagram. (8]

b) How does communication take place in Coda? Describe the
implementation and resolution of a Coda file identifier. [8]

PTO.
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How does mounting of a remote file system take place in NFS? Describe
the functionality of an automounter in NFS? (8]
How is the X.500 directory service implemented? What is LDAP? [8]

SECTION - II

Explain the concept of logical clocks and their importance in distributed
systems. A clock of a computer system must never run backward. Explain
how this issue can be handled in an implementation. [8]
Explain the Bully and Ring election algorithms. Discuss the time
complexity for both algorithms. [8]

OR
Describe any two algorithms to implement mutual exclusion in a
distributed system. (8]

Describe two phase locking? How is it implemented in a distributed
system? (8]

What is the Byzantine’s generals problem? Describe Lamport’s algorithm
to solve this problem. (8]
Describe the two phase commit and three phase commit protocols. State
the differences between the two protocols. (8]
OR
Define fault tolerance. Describe the different types of faults. When is a
system said to be k fault tolerant? (8]
Describe the four types of multicasts in reliable group communication. [8]

What is CORBA? Describe the general organization of a CORBA system

with the help of a neat diagram. [10]

How are event and notification services implemented in CORBA?

Describe how security is implemented in CORBA? (8]
OR

Write short notes on : (any three) (18]

1)
11)

Applications of grid computing.
Differences between grid and cluster computing.

111) Cluster categories.
iv) Cluster technologies.
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B.E. (Information Technology) (Theory)
INFORMATION RETRIEVAL
(414450) (Paper - I) (2003 Course)

Time : 3 Hours| [Max. Marks : 100

Instructions to the candidates :
1) Answer any Three questions from section I and any Three questions from section I1.
2)  Answers to the two Sections should be written in separate answer books.
3)  Neat diagrams must be drawn wherever necessary.
4)  Figures to the right indicate full marks.

SECTION - I

Q1) a) Differentiate between Data Retrieval and Information Retrieval. [8]
b) Explain Luhn’s Ideas. [4]

c) Explain Rochhio’s Algorithm. [6]

OR

Q2) a) With the help of Block diagram explain typical Information Retrieval
‘System. ' _ [4]

b) Explain Singe pass algorithm. [6]

¢) Describe the various classification methods based on the relations between
properties, classes and object. [8]

Q3) a) Explain with diagram a threaded list implementation of hierarchic

classification & doubly chained tree. - 8]
b) Describe the Boolean & vector Model. [8]
; e .

Q4) a) Explain with an example organization of records in Multi-lists, state its
advantage over inverted files. Explain in detail cellular multi-lists.  [10]

b) Explain XML data model. [6]
05) a) Discuss Retrieval Performance Evaluation. [8]
b) Discuss reference collection (TREC). [8]

OR

PT.O.
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What is User Oriented Measure? Explain Relative recall & recall effort.
8]

Discuss the principles to design an interactive information access system.

8]
SECTION - I
Discuss the Document Models in Digital Libraries. [10]
Write brief note on OPACs. [6]
OR
Discuss the architectural issues in Digital Libraries. [8]
Explain in detail Online retrieval Systems. (8]

What is Multimedia IR? Discuss query specification, query processing

and retrieval in multimedia IR. [8]
Discuss the generic multimedia Index approach. [10]
OR

How is image analysis and image access accomplisiied in MULTOS?
(8]
Explain the indexing of two dimensional color images applying GEMINI

algorithm. [10]

Explain Collection portioning and source selection w.r.t. Distributed IR.

8]

Discuss the challenges involved in searching the Web. [8]
OR
Discuss the different forms of searching the Web. [8]
Discuss MIMD architecture. [8]
H
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ARTIFICIALINTELLIGENCE

(2003 Course) (Elective - IT) (414451)
Time : 3 Hours| [Max. Marks : 100
Instructions to the candidates :
1)  Answers to the two sections should be written in separate books.
2)  Neat diagrams must be drawn wherever necessary.
3)  Figures to the right indicate full marks.
4)  Use of logarithmic tables, slide rule, Mollier charts, electronic pocket
calculator and steam tables is allowed.
5) Assume suitable data, if necessary.
6) AnswerQ. 1orQ. 2,0 3orQ.4,(Q.5orQ.6fromsectionIand Q. 7or Q. 8,
Q.9o0r Q. 10, Q. 11 or Q. 12 from section II.

SECTION -1

Q1) a) Explain state-space search technique for problem solving? The eight
puzzle consists of a three by three board with eight numbered tiles and a
blank space. A tile adjacent to the blank space can slide into the space.
The object is to figure out the steps needed to get from one configuration

of the tiles to another. [10]
2 [F83 123
1| 6] 4 8 4
7 5 72076 115
Start State Goal State

Set up a state-space search formulation for this puzzle:

i)  Specify the form of state descriptions, the starting state, and the
goal state for this problem. '

ii) Name the operators on states and describe what each operator does
to a state description.

iii) Propose a heuristic function / for solving this problem.
iv) Use the A* algorithm to find a solution path.

b) What is production system? How searching can be efficient by choosing
appropriate control structure. [8]

OR
PTO.
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Consider complex two-person game, based on zero-sum and perfect
information presumptions. Average branching factor is three and look-
ahead depth is also three. 191

i) How many leaf nodes must we investigate using MINIMAX
procedure? Draw the corresponding sub-tree and justify winning
move.

i) How does the ALPHA-BETA pruning algorithm influence overall
task complexity? Add alpha and beta values to the problem tree
and mark out pruned (unnecessary) nodes. Discuss the solution.

One-digit values of static evaluation function (SEF) of leaf nodes

are given in sequence:

8-7-2| 9-1-6 | 2-4-1 || 1-3-5 | 3-9-2 | 6-5-2 || 1-2-3 | 9-7-2 | 8-6-4
What is Constraint satisfaction Problem? Explain with suitable example.

1]

Explain different issues that come across in knowledge representation.
8]
Explain the main idea behind semantic nets. Construct a semantic net
representation for following sentence: 18]
“Priyanka gave Al book to Amrita”

OR

"Explain resolution in predicate logic. Consider the following sentences

(10]
»  Some professors are not entertainers.
*  Only entertainers are highly paid.

Express them in FOPC, put them into clause form, and use resolution to
answer the question: Who is not highly paid.

Explain conceptual dependency with suitable example. [6]

Conceptual parsing, like semantic grammars, is a strategy for finding
both, the structure and the meaning of a sentence in one step? Justify.

(6]

Explain discourse and pragmatic processing. [6]

What is parsing? How top-down parsing is different from bottom-up

parsing? [4]
OR
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What is understanding? What makes understanding hard? [8]

Explain Waltz algorithm for line labeling. Consider the following figure
and show the labeling using Waltz algorithm. Show your work properly.
Make suitable assumptions if required. 18]

SECTION - 1

What is planning? Explain goal stack planning with respect to block

world problem. Assume suitable example to justify your answer. [9]
Explain the components of planning systems. [9]
OR
Consider the following block world problem and show how STRIPS
would solve this problem using goal stack, planning. [10]
A
c B
A B c
Initial State ‘ Goal State
Explain non-linear and hierarchical planning. [8]

What is concept learning? Explain Winston’s learning program and justify
how it learn the concepts. Also draw block world concepts and their

structural description. [10]

What is perceptrons? Explain how a perceptron computers a binary

function of its input. Explain with suitable example. [6]
OR
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Explain backpropogation network. How do you train backpropogation
network? (8]

Many manufacturing and industrial applications have complex implicit
relationships among input and outputs. Control addresses the task of
determining the value for the input variable in order to achieve desired
value for output variable. Explain how a neural network is used for control
applications. (8]

What is logic programming? Explain how prolog answers questions? [6]
Develop a logic program (prolog program) for the following text. [10]

“Nisha likes every toy she plays with. A doll is a toy. A train is a toy.
Nisha plays with trains. John likes everything Nisha likes”.

Formulate queries to find out followings.
i)  Does Nisha like dolls?
i) Who likes trains?
i) What does John like?
iv)  Who plays with trains?
OR

Describe the main parts of an expert system. Show how they interact
with one another. Describe the advantages and disadvantages of an expert
system. . [8]

Explain how prolog is used in basic problem solving strategies of AL.[8]

HFEH
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